
Nombre: 　　　　　　　 Fecha: 　　　　　　 Puntuación: 　　　

Resolver ecuaciones cúbicas

x − 2x − 24x = 03 2 8x + 47x + 17x − 90 = 03 2

8x − 7x − 32x + 28 = 03 2 9x + 28x − 221x + 168 = 03 2

x − 2x − 15x = 03 2 4x − x − 125x + 150 = 03 2

x + 6x − 27x = 03 2 x + 6x − 7x = 03 2

x − 7x − 42x + 216 = 03 2 x − 8x − 29x + 180 = 03 2
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Nombre: 　　　　　　　 Fecha: 　　　　　　 Puntuación: 　　　

Resolver ecuaciones cúbicas

x − 2x − 24x = 03 2

x = −4, 6, 0

8x + 47x + 17x − 90 = 03 2

x = , −2, −5
8
9

8x − 7x − 32x + 28 = 03 2

x = , 2, −2
8
7

9x + 28x − 221x + 168 = 03 2

x = , 3, −7
9
8

x − 2x − 15x = 03 2

x = −3, 5, 0

4x − x − 125x + 150 = 03 2

x = , −6, 5
4
5

x + 6x − 27x = 03 2

x = −9, 3, 0

x + 6x − 7x = 03 2

x = −7, 1, 0

x − 7x − 42x + 216 = 03 2

x = −6, 9, 4

x − 8x − 29x + 180 = 03 2

x = 9, 4, −5
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